


(o (e (]

A B (o D
4 !\‘\\‘\}\;\}‘}‘}\"\‘\‘\‘\‘W‘N‘\\‘\“‘\“\\\““"\‘\‘\‘\‘\\\\J‘\"‘) @ @ m
M8x50 (x4) 13x6.2x1.5 washer (x4) spacer (x4) wrench (x1)
wall mount (x1) VESA-adapter (x4) E F G

2. Wall plate installation
YcTaHOBKa KpenJsieHUA Ha CTeHy

1. Detach VESA plate
OTcoegnHute VESA naHenb

2-1.Stud wallinstallation.

YcTaHoBKa KpensieHWA Ha epeBAHHYI0 CTEHY.

N o
3. VESA panel installation to the TV
YcraHoBKa VESA naHenu K TB
3-1.VESA 100x 100, 200 x 100, 200 x 200mm 3-2.VESA 200 x 300, 300 x 200, 300 x 300, 300 x 400,
400x 200, 400 x 300, 400 x 400mm
A/B/C/D/M8x50

A/B/C/D/M8x50

MMNNINS (Dm
J &HE= 0
M7x80 (x4) concrete anchor 10x7x60 (x4) M6x12 (x4) M6 (x4)
H | K J

Loy
M4x25 (x4) M5x25 (x4) M6x25 (x4) M8x25 (x4)
<::>

IMPORTANT: Holes' depth in the wall must be 80mm (3.1") minimum

BAXHO: rny6uHa oTBepcTMi B CTeHEe AOJKHbI 6bITb He MeHee 80MM (3.1")

ONKRON M4

designed to support

. Max weight
Screen size
. " 35 kg
32"-55 /) 77 bs

VESA

100 x 100, 200 x 100, 200 x 200,

200 x 300, 300 x 200, 300 x 300,

300 x 400, 400 x 200, 400 x 300, 400 x 400 mm

Tilt -I —] Wall distance r Swivel Horizontal adjustment
5% t0 +8° = e 180° L s
. . <

2-2.Masonry Wall.
IMPORTANT: Holes' depth in the wall must be 80mm (3.1") minimum

YcTaHOBKa KpenieHnA Ha KanuTanbHY CTEHY.
BAMHO: rny6uHa oTBepcTUi1 B CTeHe AOJIKHbI 6bITb He MeHee 80MM (3.1")

5 >
° min ° min
i 80 mm 3 80 mm
3 (3.1 3 31
3 8 3 8

4. Hung TV on the Wall plate
HaBecbTe TB Ha HacTeHHyl0 NaowanKy

5. Cable managment
system

Mponoxute npoeoga

Tighten the screw by using a wrench B Ka6eb-KaHan

screwdriver to secure the bracket

3aTAHMTE BUHT, UCNOJIb3YA KoY,
ANA GUKcauum KpoHLWTeNHa




